Name:

Quadratic Formula Part 3

EXAMPLE:
f(x) =2x%2+6x+2

_ —b+Vb2—4ac —(6) +/(6)? — 4(2)(2)

X

2a 2(2)
_ —6+V36—16 —61+20
- 4 - 4

Simplify the V20 as much as you can:
—6+V20 -6+V#/5 —6+2V5

4 4 4
Since you can’t add/subtract the top, split the fraction.
6 25
=——4—
4 4

Simplify each fraction. Leave \/5 as it is!

6+2 2+2 V5 3 1V5
- =-ta—2

42 42 2 2

The roots are:
3 V5

- — i R
27 2

X =

EXAMPLE:
gx) =-3x2+2x—4

_—bxVbZ—dac _ —(2) +/(2)? — 4(=3)(-4)

X

2a 2(-3)
—2+V4-48 —2+V-44
- —6 - 6
Simplify the /—44 as much as you can:
—2+V-44 24 iVA11T -242iV11
6 -6 -6
Since you can’t add/subtract the top, split the fraction.
-2 211
Qi

Simplify each fraction. Leave iv11 as it is!
—2+-2 2+2 W11 1 1/5
) * =3 3

—6+-2 3 3

The roots are:

1$i\/11
*T3773

Use the quadratic formula to determine the zeros (also known as roots, solutions, & x-intercepts).

1. f(x)=x*>+2x+8

2.9(x)=x*+2x-6

3. h(x) =3x2—12x + 2




4, j(x) =—-x%2-5x+5

5. k(x) = 3x? + 6x —2

6. m(x) = —4x>+8x—5

7.n(x) =x%2+10x+5

8. p(x) =—x?—4x+3

9. r(x) =2x2—-2x—1

10. t(x) = —2x%>+5x + 2

11. w(x) = x% + 4x + 20

12. z(x) =10x +3x — 1

Answers
1.x=-1+iV7 2.x=—-1++7 3. =240
— 3
4.x=—§$%§ 5.x—1i§ 6.x=1i% same as x=1i%i
x=-5+2V5 8. x=-2F7 9. x=148
2 2
1O.x=EiE 11. x = -2+ 4i 12 x=§0rx=—§
4 4




